382 Lake Meade Dr,East Berlin,PA,US

Gross Living Area: 1481 sq. ft
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Space Area (sq. ft)

Calcu |atI0n Coordinate Polygon Area Algorithm using inches

FLOOR 1 1022
(Living area)

UNDEFINED 5
(Non-living area)
FIREPLACE 11

(Non-living area)
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-((544.9 + 544.9) * (34.8 - 350.3) + (544.9 + 75.8) * (350.3 - 350.3) + (75.8 + 75.8) * (350.3 - 105)
+(75.8+87.3) * (105 - 105) + (87.3 + 87.3) * (105 - 40.8) + (87.3 + 81.8) * (40.8 - 40.8) + (81.8 +
75.8) * (40.8 - 34.8) + (75.8 + 544.9) * (34.8 - 34.8)) * 0.5 * 0.00694

-((75.8 + 81.8) * (34.8 - 40.8) + (81.8 + 87.3) * (40.8 - 40.8) + (87.3 + 87.3) * (40.8 - 105) + (87.3 +
75.8) * (105 - 105) + (75.8 + 75.8) * (105 - 34.8)) * 0.5 * 0.00694

-((568.6 + 568.6) * (247.6 - 314.3) + (568.6 + 544.9) * (314.3 - 314.3) + (544.9 + 544.9) * (314.3 -
247.6) + (544.9 + 568.6) * (247.6 - 247.6)) * 0.5 * 0.00694

Measurements and calculations are deemed highly reliable, but not guaranteed.



382 Lake Meade Dr,East Berlin,PA,US
Gross Living Area: 1481 sq. ft
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Space Al'ea (Sq . ft) CaICUIation Coordinate Polygon Area Algorithm using inches
FLOOR 2 1481 -((554.6 + 554.6) * (34.8 - 374.4) + (554.6 + 325) * (374.4 - 374.4) + (325 + 325) * (374.4 - 559.8)
(Living area) + (325 + 67.4) * (559.8 - 559.8) + (67.4 + 67.4) * (559.8 - 34.8) + (67.4 + 554.6) * (34.8 - 34.8)) *
0.5*0.00694
DECK 249

(Non-living area)
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Measurements and calculations are deemed highly reliable, but not guaranteed.

-((550.6 + 550.6) * (374.4 - 551.5) + (550.6 + 441.9) * (551.5 - 551.5) + (441.9 + 441.9) * (551.5 -
517.1) + (441.9 + 325) * (517.1 - 517.1) + (325 + 325) * (517.1 - 374.4) + (325 + 550.6) * (374.4 -
374.4)) * 0.5 * 0.00694



